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Homework 7 Solution
Total   40
4.59

a. E(X) = 
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c. P(X ( 4 ) = 
[image: image3.wmf]982
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d. P(2 ( X ( 5) = 
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a. P(X ( 100 ) = 
[image: image5.wmf]7499
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(2)
P(X ( 200 ) = 
[image: image6.wmf]9375
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(2)
P(100 ( X ( 200) = P(X ( 200 ) – P(X ( 100 ) = .9375 – .7499 = .1876
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b. ( = 
[image: image7.wmf]15

.

72

01386

.

1

=

, ( = 72.15

P(X > ( + 2() = P(X > 72.15 + 2(72.15)) = P(X > 216.45) = 
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(3)
c. .5 = P(X ( 
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Mean = 
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a. P(X > 20,000) = 1 – P(X ( 20,000) = 1 – F(20,000; .00004) 
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P(X ( 30,000) = F(30,000; .00004) 
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P(20,000 ( X ( 30,000) =  .699 – .551 = .148

b. 
[image: image15.wmf]000
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, so P(X > ( + 2() = P( x > 75,000) = 

1 – F(75,000;.00004) = .05.

Similarly, P(X > ( + 3() = P( x > 100,000) = .018

4.65

a. P(X ( 5) = F(5;7) = .238

b. P(X < 5) = P(X ( 5) = .238

c. P(X > 8) = 1 – P(X ( 8) = 1 – F(8;7) = .313

d. P( 3 ( X ( 8 ) = F(8;7) – F(3;7) = .653

e. P( 3 < X < 8 ) =.653

f. P(X < 4 or X > 6) = 1 – P(4 ( X ( 6 ) = 1 – [F(6;7) – F(4;7)] = .713
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a. ( = 20,  (2 = 80  ( (( = 20, ((2 = 80  ( ( = 
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b. P(X ( 24) = 
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(3)
c. P(20 ( X ( 40) = F(10;5) – F(5;5) = .411
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4.72
a. E(X) = 
[image: image18.wmf]66
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(2)
Var(X) = 
[image: image19.wmf](
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(2)
b. P(X (  6) = 
[image: image20.wmf]982
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(3)
c. P(1.5 (  X ( 6) = 
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4.79

a. E(X) = 
[image: image22.wmf](
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= 68.0335; V(X) = 
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b. P(50 ( X ( 250) = 
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P(Z ( 1.68) – P(Z ( .34) = .9535 – .6331 = .3204.

c. P(X ( 68.0335)  = 
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= P(Z ( .60) = .7257.  The lognormal distribution is not a symmetric distribution.
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a. E(X) = 
[image: image26.wmf]024
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(2)
Var(X) = 
[image: image27.wmf](
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(2)
b. P(X ( 10) = P(ln(X) ( 2.3026) = P(Z ( .45) = .6736



(3)
P(5 ( X ( 10) 
= P(1.6094 ( ln(X) (2.3026) 

= P(–.32 ( Z ( .45) = .6736 – .3745 = .2991


(3)





















































































































1
PAGE  
3

_1225382867.unknown

_1225382887.unknown

_1225385245.unknown

_1225390480.unknown

_1348330621.unknown

_1225385249.unknown

_1225384407.unknown

_1225385236.unknown

_1225385239.unknown

_1225382891.unknown

_1225382873.unknown

_1225382881.unknown

_1225382884.unknown

_1225382870.unknown

_1008870876.unknown

_1008874449.unknown

_1173279199.unknown

_1225382865.unknown

_1008884060.unknown

_1008884107.unknown

_1008874632.unknown

_1008874178.unknown

_1008874280.unknown

_1008871235.unknown

_1008869476.unknown

_1008869880.unknown

_1008869402.unknown

